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EEERTERFRTO Atfit

¢« 9BYDMC ZIEY. ST D=7 )T1ZfER LT
— Fit function : y = P1x + PO

P0=-0.017=0.0098 P0=0.0020=%0.0097
St p1=1.02+0.091 > P1=1.07+0.091
905 %05
£ o s o i
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-0-15: ,’ /x -0.15_ /
-0.2: 7/ 0.2f //
02525 '-o.z} ~ 015 04 -005 0 005 P25 02 015 0 '°;2,‘r;ut pa",ametg',°5

input parameter
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Yo,

Qlul

He:9, DEITE

Belle £7—%4 : #5832 0.020(gi1E]) — ~0.014

D*—D%%, D'—Kn

— Signal fraction # Ri&+ o1

— Continuum BG, B° BG, B* BG M At PDF Z&3K & 7= <— new

_ 9 BYDMC E4EY . fit LI=S* DY=F T EREELT-
aTIE

Signal At resolution

1EFH j_é_FﬁIZHﬁEEIZOL\—C %"% EE‘%E*&)% continuum Background At shape

Neutral B Background At shape

Tag Side inte rference 0) Hy L) *&l’ \ Charged B Background At shape

$%}E n,\% 0) E*E:B L) Signal Background fraction

Wrong tag fraction
Data fit

Vertexing
Physics parameters(t, Am)

Fit bias
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Buck up
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{

Tl

e 1, Am % fit

rbin

BSEZRDAt fit

rbin

1 _|At| officia officia
I:)sig (At’ qtag 1 qcp ) — g € % {1_ qtag AW | — qtagqcp (1_ 2W y I) COS(AmAt)}

[Btag =B’, fep = D 7" & B,

ag

—B°, f, =Dz |

B, =B’ fp=D"7 & B,

=B°, f, =D"7" |

Z3=0&LLTHEE —sinIBE LR

w, Aw : flavor tag D fE1:E L V& $i 1

WBO + WEO

W= ,AWZWw—W@

Official wrong tag fraction Z{# FH

Bin#0
Bin#l
Bin#2
Bin#3
Bin#4
Bin#5
Bin#6

w=0.5 Aw=0.

w= 0.412222 Aw=0.00408778
w=0.307838 Aw=0.010326
w=0.212765 Aw=-0.00479522
w=0.149933  Aw=0.00151989
w=0.0913264 Aw=0.0143633
w=0.0218754 Aw=0.00189979
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B3R 0DAt fit

- ERERDPDFZFH=0. &R % fit

+H

— Fit £
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=At
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g -
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Reon (A1) = (1— F5)- G(AL ST - 03) + a G(at s 0, -
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« AEZERLT. 8FNbER

Signal fraction

=
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20
Partial recon Signal event selection

> 1EHEZTvertex MRTE D T= D Fast pion ~DER
* Impact parameter
— radial : dr <0.1cm

— longitudinal : |dz| < 2.0 cm \O(
»SVDIZEYhELD

» Polar angle in the laboratory frame : 30° < g, <135°

« The vertex positions are obtained by fits of the candidate tracks with
the IP.

« Lepton, kaon hypothesis &—ZL7%E0
— Based on information from the CDC, TOF and ACC.
* Fast pion cms momentum :1.83¢V/ < p  <2.43%/]
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Partial recon Signal event selection

Slow pion cms momentum : 0.05 ¢V/{ < p_ <0.30 &/
Particle identification M &2 slow pion [ZIXAID FEEE
Vertexing [ZEEAALZLY

IPASELHIEDAEKRT D

fast pion &slow pion (XFEDERZEHD

RSN
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D*mt 2§
e 771581 x10M6 x 2.76 X 10N-3 =2.13 x 106
— Kmt: Xx67.7x10™-2 x 3.89 x 10™-2 = 56000

« RIS TR
D*—D% (67.7%)
D% —»Kn (3.89%), Knrt® (13.9%), Knnere (8.09%), Kt (2.94%)
D*—DnP (30.7%)
D—Knr (9.4%)



23 —

e D'>DO, DY 5K {(E&EIR

4D

L3 A

Slow © A9} D = DO
SVD hitinr-¢p =1,z 22 1.82 GeV < |Mkn| < 1.92 GeV
Pid(K/ 1) = 0.7 D"
K 0.143 GeV < Mp*—Mpo< 0.148 GeV
SVD hit: m &REIC B
i =
Pid(K/m) = 0.3 5.2GeV<M,.<5.3GeV
Slow &t -0.15 GeV < AE < 0.15 GeV

%Eﬂ%*ﬁ%*R (Mbc' MD* -M Do)

dE/dx

dE/dx vs log,(p)




Z4

Neutral B BG AE PDF
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Charged B BG AE PDF

B* background
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Generic MC were reconstructed.

— Case B
— 5 streams

B reconstruction

AE
18000

—

8
S16000
o

E‘I 4000
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Q
0112000

10000

8000
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4000

2000

0

v2/ndf = 1.854784

e
AE (GeV)

G, = 0.009715 —(
'sig

c,., = 0.0204 -0.0
'sig

bbbg_frac= 0.1145

continuum =-0.0852

dgauss _frac= 0.8
sig
mean = -0.000913

sig_frac= 0.7741

D.0000¢
D12
- 0.0C

-0.0
/3 -

- 0.(
0.002(

-
ol ol i 3 i e ot kot skt

005 01 015




21

r bin

* 1 bin : bin definition of the flavor tagging category

R bin #
Bin#0
Bin#l
Bin#2
Bin#3
Bin#4
Bin#5
Bin#6

0<=|r|<=0.1
0.1<|r| <=0.25
0.25<|r| <=0.5
0.5 < |r| <= 0.625
0.625 < |r| <= 0.75
0.75 < |r| <= 0.875
0.875<|r| <=1.0

wrong tag fraction for SVD2 MC

w=0.5

w = 0.412222
w = 0.307838
w =0.212765
w = 0.149933
w = 0.0913264
w = 0.0218754

Aw=0.
Aw=0.0569661
Aw=0.0126192
Aw=0.0147724
Aw=0.000550289
Aw=0.00887704
Aw=0.00465683
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ESERDAL fit

. Fitf#f8
MC A B1E

98
|

—
Q
«

§0’ f(;p — *— _+

D«
B®, f,o, =Dz

o
I

Q
(o]

Mean 211
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= 3 oof-
Hoof goof gnu o H
oo - Boof b 3
soof sof 200 = oof
400 400 |~ 200k
200
200 Els] o
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Signal + B°BY Background

* To check the correctness of BG PDF, Signal + B°B? BG was fitted.

Otag = Yep Otag = Ycp Otag # Uep
T 1.533%0.006 (ps) | Binto Bin#1

evants

w o oa
8 8 8888 8
LR L) sk b

éoo F

Am 0.505=+0.004
ﬂ+80§0 BG Sl
Bin#2

Tag 1.535=+0.006 (ps)
Am 0.505+0.004

events /0
]

. B8 B 8
 Radaaars:

- B8 E§EPEE

aaaaa

* Fit results for signal
and signal + B°B% BG
are consistent.

— BYBY BG PDF were
obtained.
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Signal + B*B- Background

« To check the correctness of BG PDF, Signal + B*B~ BG was fitted.

Qtag = QCp

Tso 1.533=+0.006 (ps)
Am 0.505+0.004

Bin#0

ﬂ + B*'B-BG

avents

- wow o
- 8 8 8 88 88
ST

Qtag = qcp

Bin#1

goo E

qtag 7 C]cp

Tso 1.535=+0.006 (ps)
Am 0.506+0.004

- B ¥ ¥ 5§ T

* Fit results for signal
and signal + BTB~ BG
are consistent.

— BT™B~ BG PDF were
obtained.
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Signal + continuum Background

 To check the correctness of BG PDF, Signal + continuum BG was fitted.

Qtag = QCp

Tso 1.533=+0.006 (ps)
Am 0.505+0.004

ﬂ + continuum BG

Tso 1.534=+0.006 (ps)
Am 0.505+0.004

* Fit results for signal
and signal + continuum
BG are consistent.

— continuum BG PDF
were obtained.

| Bin#6

Bin#0

Cw W s s e
BB 8888TE

Otag = Hep Otag 7 Jep

Bin#1

£
Joof

. BB BB O§CUETEE

1

#20 -
%m F
&0
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EEERITEEER

« signal fraction [T TERFEREMA. EFFRD 1, Am Zfit

Bin#0

Tag 1.533=+0.006 (ps)
Am 0.505+0.004

ﬂ + BRER

Tag 1.534=+0.006 (ps)
Am 0.5060.004

Cm W s s e
BB 8888TE

o B EEEEWEE

Fit %‘-‘%mnva%%mﬂ
& consistent.

. B 88§ 8 PEVE
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e Fit#tE

|

4B HA ]

1
Paosa (At’ Qtag > Yep ) ~a-

8t

B°BG

:II:-E
==

)

Fanll

thn

= 2R At fit

|t
e AOBG {1_ qtag CIcp (1_ 2Wrbin) COS(AmAt)}

( | | )
Flavor tag §§1IE  B°B%bar mixing IH

B
B

tag

tag

TBOBG

1.525+0.019 (ps)
0.516+0.013
0.50 (fixed)
0.45+0.02
0.29+0.02
0.23+0.02
0.18+0.02
0.12+0.02
0.03+0.01

Bin#0

=B° fo,=D"7"
=B% f,=D" 7"

~ aen/0s,
al
B g o
g
T T o
N

aaaaaaaaaaaaa

v event:
P P 8
LIRS RALI RARE AR RARE
A
— L=
A 4
l’_ xg:b
£[E]
k£l ENE
= 2 3|
|
awen
PR .
w3 G b8 3 %438
e
i

| Bin#4
ol

JJJJJJJJ

rrrrrrrrrrrrr
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faT &

F)chg (At’ qtag J qcp ):

thn

BHfEl FE = HFH R DAL fit

1 —|At]
8— € e {1_ qtagqcp (1_ 2Wrbin)}

z-cth

(Ll

Btag = go’ fCP =D"7"

B, =B f,=D"7"

ag:

e Fit#tE

e 1599%0.029 (ps) heded hefl e | Gt M| ek N
W, 0.50 (fixed)
w, 0442002
w,  0.32%0.02

T
AAAAA

W, 0.260.02
W, 0.160.02
Wi 0.130.02

Wi 0.04+0.01 S

.............
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BLLYY DB

con(At) J‘ COI’I(At') ° Rbkg (At _At') ° dAtl con(At) - f 5(At /u5)+(1 f ) exp[_

e Fit#tE

f, 0.26+0.04 0.39+0.02
m, 0.046+0.007

m, 0.14+0.01

Teon 0.58+0.02

Spg™"  1.07+0.03 1.3420.02
Sy 5.40%0.42 4.87+0.26
fuoll  0.088+0.010  0.0470.007

He &2

5 =5 F DA fit

thn

Ou )+ |

con con

Ryn(At) = (1— £21). G(AL; 51"

con

tail

|At— g,
Tcon

.G(At;s? . o,)

con Vitx

Bi

ady

W & 3@
. 8 B 8 8 3§
IRARE AR nanS

aaaaa

aaaaa

aaaaa

§ 5 8 §obuols
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.IIIn

i

B}

2R TEEFRTO At fit
Y

P(B° - D 7*)="2 [1:+ C cos(amat)— S7 sin(amat)]

o fit results

d,+03/2 S+
(input)

0.89685

/2

/4

0.02
0.05
0.1
0.02
0.05
0.1
0.02
0.05
0.1

-0.039
-0.097
-0.19
0.0
0.0
0.0
-0.040
-0.10
-0.20

P(B° > D*77)=1

8180

A
70

810

-0.047 = 0.021 (0.36 o)
-0.099 * 0.021 (0.11 o)
-0.24 % 0.020 (2.4 o)
-0.021 * 0.021 (0.98 o)
-0.033 = 0.021 (1.60 o)
-0.020 = 0.021 (0.96 o)
-0.039= 0.021 (0.049 o)
-0.13= 0.021 (1.49 o)
-0.20= 0.019 (0.20 o)

[1:+ C cos(AmAt )+ S* sin(AmAt)]

-0.032 = 0.021 (0.35 o)
-0.12 = 0.021 (0.98 o)
-0.20 = 0.020 (0.38 o)
0.013 = 0.021 (0.65 o)
0.014 = 0.020 (0.69 o)
-0.016 = 0.021 (0.78 o)
-0.047 =+ 0.021 (0.32 o)
-0.11 =% 0.020 (0.28 o)
-0.21 = 0.020 (0.43 o)



